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#def i ne RT2860_DBG _RX (1 << 6)
#def i ne RT2860_DBG_SCAN (1 << 7)
#def i ne RT2860_DBG TX (1 << 8)
#def i ne RT2860_DBG_RADI O (1 << 9)
#def i ne RT2860_DBG_RESUVE (1 << 10)
#def i ne RT2860_DBG_MSG (1 << 11)
uint32_t rt2860_dbg_flags = 0x0

#i f def DEBUG

#def i ne RWN_DEBUG \
rt 2860_debug

#el se

#def i ne RWN_DEBUG

#endi f

static void *rt2860_soft_state P = NULL;
rt2860_fwbin [T = {
"fwrt2860/rt2860. ucode"

static U|nt81

#i ncl ude

379 static int

380 rt2860_read_eepron(struct
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__unchanged_portion_omtted_

rt2860_softc *sc)

del ta_5ghz;

struct ieee8021lcom *ic = &c->sc_ic
int ridx, ant, i;
int8_t del ta_2ghz
uint16_t val

/* read EEPROM ver si on */

val

| *

val

val

val

= rt2860_eeprom read(sc,
RWN_DEBUG RT2860_DBG_EEPROM

"rwn:

" EEPROM rev=0@, FAE=%l\n",

val

& Oxff, val

>> 8);

read MAC address */

= rt2860_eeprom read(sc
i c->i c_macaddr[ 0]
i c->i c_macaddr[1]
= rt2860_eepromread(sc
ic->c_macaddr[2] = val & Oxff
i c->i c_macaddr|[ 3]
rt2860_eeprom read(sc
i c->i c_macaddr[ 4]
i c->i c_macaddr [ 5]
RWN_DEBUG( RT2860_DBG_EEPROM
"MAC address is:
ic->c_macaddr[O0],
i c->i c_macaddr[2],
i c->i c_macaddr[4],

= val
= val

& Oxff;
>> 8;

=val >> 8

= va
= val

& Oxff;
>> 8;

"rwn:
O U UK U X

/* read country code */

val

| *
f

= rt2860_eeprom read(sc
RWN_DEBUG( RT2860_DBG_EEPROM
" EEPROM r egi on code=0x%94x\ n",

"rwn:

read default BBP settings */

(i

= 0;
val

sc->bbp[i]. val
sc->bbp[i].

i < 8; i++)

= rt2860_eepromread(sc
= val & Oxff;

reg = val > 8

RWN_DEBUG( RT2860_DBG_EEPROM

" BBPYel=0x%02x\ n"
sc->bbp[i].reg,

ic->i c_macaddr[ 1]
i c->i c_macaddr[ 3]
i c->i c_macaddr [ 5]

sc->bbp[i].

w\n",

)

RT2860_EEPROM BBP_BASE + i);

"rwn:

RT2860_EEPROM VERSI ON) ;
rt2860_read_eepron(): "
RT2860_EEPROM _MACO1)
RT2860_EEPROM MAC23) ;
RT2860_EEPROM MACAS) ;

rt2860_r ead_eepromn():

RT2860_EEPROM COUNTRY) ;
rt2860_read_eeprom(): "
val );

rt2860_r ead_eepron()

val );
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/* read RF frequency offset from EEPROM */

val = rt2860_eeprom_read(sc, RT2860_EEPROM FREQ LEDS) ;

sc->freq = ((val & Oxff) !'= Oxff) ? val & Oxff : O;

RWN DEBUG( RT2860_DBG_EEPROM "“rwn: rt2860_read_eepron(): "
"EEPROM freq of fset %l\n", sc->freq & Oxff);

if ((sc->leds = val >> 8) != 0xff) {
/* read LEDs operating node */

sc->l ed[0] = rt2860_eeprom read(sc, RT2860_EEPROM LED1);

sc->l ed[1] = rt2860_eeprom read(sc, RT2860_EEPROM LED2);

sc->l ed[2] = rt2860_eeprom read(sc, RT2860_EEPROM LED3);
} else {

/* broken EEPROM use default settings */
sc->| eds = 0x01;

sc->l ed[ 0] = 0x5555;
sc->l ed[ 1] = 0x2221;
sc->l ed[ 2] = 0xaof 8;

}

RWN_DEBUGQ RT2860_DBG _EEPROM "rwn: rt2860_read_eepron(): "
" EEPROM LED node=0x%02x, LEDs=0x%4x/ 0x%04x/ 0x%04x\ n",
sc->l eds, sc->led[0], sc->led[1l], sc->led[2]);

/* read RF information */
val = rt2860 eeprom read(sc, RT2860_EEPROM ANTENNA) ;
if (val == Oxffff) {
/* broken EEPROM default to RF2820 1T2R */
RWN_DEBUG( RT2860_DBG EEPROM "rwn: rt2860_read_eepron():
"invalid EEPROM antenna info, using default\n");
sc->rf_rev = RT2860_RF_2820;
sc->nt xchains = 1;
sc->nrxchains = 2;
} else {
sc->rf_rev = (val >> 8) & Oxf;
sc->ntxchains = (val >> 4) & Oxf;
sc->nrxchai ns = val & Oxf;

}

RWN_DEBUGQ( RT2860_DBG _EEPROM “"rwn: rt2860_read_eepron(): "
" EEPROM RF r ev=0x%2x chai ns=%T%IR\ n",
sc->rf_rev, sc->ntxchains, sc->nrxchains);

/* check if RF supports automatic Tx access gain control */
val = rt2860_eeprom read(sc, RT2860_EEPROM CONFI G ;
RN DEBUG( RT2860_DBG EEPROM "rwn: rt2860_read_eepron():
" EEPROM CFG 0x%04x\ n", val);
if ((val & Oxff) !'= Oxff)

sc->cal i b_2ghz = sc->calib_5ghz = 0; /* XXX (val >> 1) & 1 */;

if (sc->sc_flags & RT2860_ADVANCED_PS) {
/* read PCle power save |evel */

val = rt2860_eepromread(sc, RT2860_EEPROM PCl E_PSLEVEL);

if ((val & Oxff) 1= Oxff)

sc->psl evel = val & 0x3;

val = rt2860_eepromread(sc, RT2860_EEPROM REV);

if (val >> 8 1=0x92 || !(val & 0x80))

sc->psl evel = M N(sc->pslevel, 1);

RWN DEBUG( RT2860_DBG_EEPROM
"rwn: rt2860_read_eepromn():
" EEPROM PCl e PS Level =%\ n",
sc->psl evel ) ;

}

/* read power settings for 2GHz channels */
for (i =0; i <14; i += 2)
val = rt2860_eeprom read(sc,
RT2860_EEPROM PWR2GHZ_BASEl1 + i / 2);
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sc->txpowl[i + 0]
sc->txpowl[i + 1]

(int8_t)(val & Oxff);
(i _t)(val >> 8);

val = rt2860_eepromread(sc,

RT2860 EEPROM PV\RZG-IZ_BA E2 +i [/ 2);
sc->txpow2[i + 0] = (int8_t)(val & Oxff);
sc->txpow2[i + 1] = (int8_t)(val >> 8);

fix broken Tx power entries */
(i =0; i <14; i++) {
if (sc- >txpov\/l[|] <
sc- >t Xpowl[ i
if (sc->txpow2[i] <
sc- >t xpow2[ i
RWN_DEBUG( RT2860 DBG EEPRC]Vl "rwn: rt2860_read_eepron():
"chan %l: power 1=%l, power2=%l\n",
rt2860_rf2850[i]. chan, sc->txpowl[i], sc->txpow2[i]);

*
or
|| sc->txpowl[i] > 31)
= 5;
|| sc->txpow2[i] > 31)
= 5;

‘—‘O‘—‘O

/* read power settings for 5GH channels */
for (i = 0; i < 36; i +=2)
val = rt2860_eepromread(sc,
RT2860_EEPROM PWRSGHZ_BASEL + i / 2);
sc->t xpowd[i + 14] (int8_t)(val & Oxff);
sc->txpowl[i + 15] (int8_t)(val >> 8);

val = rt2860_eepromread(sc
RT2860_EEPROM PV\R5G—|Z_BASE2 +i 1/ 2);

sc->txpow2[i + 14] = (int8_t)(val & Oxff);
sc->txpow2[i + 15] = (int8_t)(val >> 8);

0; i < 35; i++) {
0; i < 36; i++)
if (sc- >txpomﬂ.[14 +i] < -7 || sc->txpowl[14 + i] > 15)
sc->txpowl[14 + i] = 5;
if (sc->txpow2[14 + i] < -7 || sc->txpow2[14 + i] > 15)
sc->txpow2[14 + i] = 5,
RWN_DEBUG( RT2860_DBG EEPROM "rwn: rt2860_read_eepron(): "
"chan %d: povverlz%i, power 2=%\ n",
rt2860_rf2850[ 14 + i].chan, sc->txpowl[1l4 + i],
sc->txpow2[ 14 + i]);

/* fix broken Tx power entries */

}

I* read Tx power conpensation for each Tx rate */
val = rt2860_eeprom_ read(sc RT2860_EEPROM DELTAPWR) ;
delta_2ghz = delta_bghz = 0;
if ((val & Oxff) != Oxff && (val & 0x80)) {
delta_2ghz = val & Oxf;
if (!'(val & 0x40)) /* negative nunmber */
del ta_2ghz = -del ta_2ghz;

val >>= 8;
if ((val & Oxff) != Oxff && (val & 0x80)) {
del ta_5ghz = val & Oxf;
if (!(val & 0x40)) /* negative nunmber */
del ta_5ghz = -delta_5ghz;

}

RWN_DEBUGQ RT2860_DBG _EEPROM "rwn: rt2860_read_eepron(): "
"power conpensation=% (2GHz), % (5GHz) \n",
del ta_2ghz, delta_5ghz);

for (ridx = 0; ridx < 5; ridx++) {
uint 32_t reg,;

val
reg

rt2860_eeprom read(sc, RT2860_EEPROM RPWR + ridx);
(uint32_t)val << 16;
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}

/* read factory-calibrated sanples for tenperature conpensation */

val

val = rt2860_eepromr
reg | = val;

sc- >t xpow20mhz[ ri dx]
sc- >t xpowdOnmhz_2ghz[r
sc- >t xpowdOnhz_5ghz[r

RWN_DEBUG( RT2860_DBG

"ridx %:

ead(sc,

=T
i dx

EEPROM

sc- >t xpowd0Orhz_2ghz[ ri dx],

= rt2860_eeprom read(sc,

sc->tssi_2ghz[0] = val & Oxff;
sc->tssi_2ghz[1] = val >> 8;

val

sc->tssi_2ghz[2] = val & Oxff;

sc->tssi_2ghz[3] = val >> 8;
val = rt2860_eepromread(sc,
sc->tssi_2ghz[4] = val & Oxff;
sc->tssi_2ghz[5] = val >> 8;

val

= rt2860_eeprom read(sc,

= rt2860_eepr omr ead(sc,

sc->tssi_2ghz[6] = val &Oxff
sc->tssi_2ghz[7] = val >> 8;

val

sc- >tSSI_29hz[8] = val & Oxff;

= rt2860_eeprom read(sc,

sc->step_2ghz = val >> 8§;

/* check that

DEBUG( RT2860_DBG_EEPROM

"0x%02x 0x%02x step=%d\n"
sc->tssi_2ghz[ 2],
sc- >t ssi_2ghz[ 5],
sc->tssi_2ghz[ 8],

if (sc->tssi_2ghz[4] == Oxff)

val = rt2860_eepromread(sc,
sc->tssi_5ghz[0] = val & Oxff;
sc->tssi_5ghz[1] = val >> 8;
val = rt2860_eeprom read(sc,
sc->tssi_5ghz[2] = val & Oxff;
sc->tssi_5ghz[3] = val >> 8§;
val = rt2860_eepromread(sc,

sc->tssi_5ghz[4] = val & Oxff;

sc->cal i b_2ghz = 0;

sc->tssi_5ghz[5] = val >> 8;

val

sc->tssi_5ghz[ 6] = val & Oxff;

= rt2860_eeprom read(sc,

sc->tssi_bghz[7] = val >> 8;

val

sc->tssi_Sghz[8] = val & Oxff;

= rt2860_eeprom read(sc,

sc->step_5ghz = val >> 8;
RWN DEBUG( RT2860_DBG_EEPROM

/* check that

"0x%02x 0x%02x step=%d\n"
sc->tssi_5ghz[ 2],
sc- >t ssi_5ghz[ 5],
sc->tssi _5ghz[ 8],

if (sc->tssi_5bghz[4] == Oxff)

/*
val

read RSSI

sc->cal i b_5ghz = 0;

= rt2860_eeprom read(sc,

ref value is correct,

ref value is correct,

€g;
idx] = bdinc(reg,
] = bdinc(reg,

"rwn:
power 20MHz=0x%®8x,

"40MHz/ 5GHz=0x%08x\ n", ri dx,

RT2860_EEPROM RPWR + ridx + 1);

RT2860_EEPROM TSSI 1_2GHZ) ;

/*
/*
RT2860_EE
[* [-2
/* [-1
RT2860_EE
[* [+0
[* [+1
RT2860_EEl
[* [+2
/* [+3
RT2860_EE

-4

"rwn: rt2860_read_eepron():
TUTSSI 2GHz: Ox%02x Ox%02x 0x%02x O0x%02x Ox%02x Ox%02x 0x%02x "
sc->tssi_2ghz[ 0],
sc- >t ssi _2ghz[ 3],
sc- >t ssi_2ghz[ 6],
sc->step_2ghz);

otherw se disable calibration */

*/

*

*/

*/

*/

sc- >t ssi _2ghz[ 4

RT2860 EEPROVI TSSI1_5GHZ);
*/

*

*
RT2860_E
[* T-
[* [-
RT2860
/* [+0
[* [+1
RT2860_EEl
[* [+2
/* [+3
RT2860_EE

.—.—l
w

m'—‘NITI

"rwn: rt2860_read_eepron():
"TSSI 5GHz: Ox%02x Ox%02x 0x%02x O0x%02x O0x%02x Ox%02x 0x%02x "
sc- >t ssi_5ghz[ 0],
sc- >t ssi _5ghz[ 3],
sc- >t ssi _5ghz[ 6],
sc->step_5ghz);

otherwi se disable calibration */

*/

*

*/

*
/
PROM TSSI 5_5GHZ) ;

1* T+4] */

of fsets and LNA gai ns from EEPROM */
RT2860_EEPROM RSSI 1_2GHZ) ;

del ta_2ghz);
del ta_5ghz);

rt2860_read_eepron():
40MHz/ 2GHz=0x%©8x,
sc- >t xpow20nmhz[ ri dx],
sc- >t xpowdOnhz_5ghz[ri dx]);

PROM TSSI 2_2GHZ) ;
*
/
PROM TSSI 3_2GHZ) ;
*
/
PROM TSSI 4_2GHZ) ;
*
/

PROM TSSI 5_2GHZ) ;
[* T+4] */

sc- >t ssi _.

sc- >t ssi 2ghz[7]

PROM TSSI 2_5GHZ) ;
*
/
PROM TSSI 3_5GHZ) ;
*
/

PROM TSSI 4_5GHZ) ;
*
/

sc->tssi_
sc- >t ssi _5ghz[ 4],
sc->tssi_5ghz[ 7],
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sc->rssi_2ghz[0] =
sc->rssi_2ghz[ 1] =

val = rt2860_eepromread(sc,
val & Oxff; [*
sc->lna[2] = val >> 8;

sc->rssi_2ghz[2] =

val = rt2860_eepromread(sc,
sc->rssi _5ghz[0] = val & Oxff; /*
sc->rssi_5ghz[1] = val >> 8; /*
val = rt2860_eeprom read(sc,

sc->rssi_5ghz[2] =

val = rt2860_eeprom read(sc,
sc->lna[0] = val & Oxff;
sc->lna[1] = val >> 8;

/* fix broken SGHz

val & Oxff; [*
val >> 8; /*
RT2860_EEPROM RSSI 2_2GHZ) ;

val & Oxff; [/*
sc->lna[3] = val >> 8;

LNA entries */

if (sc->Ina[2] == 0 || sc->lna[2]
RWN_DEBUG( RT2860_DBG_EEPROM

Ant A */
Ant B */

Ant C */

/* channel group 2 */

RT2860_EEPROM RSS| 1_5GHZ) ;

Ant A */
Ant B */

RT2860_ EEPROM RSS| 2_5GHZ) ;

Ant C */

"invali d LNA f or channel
sc->lna[2] = sc->Ina[l];
}
if (sc->Ina[3] == 0 || sc->Ina[3]

RWN_DEBUG( RT2860_DBG_EEPROM

“invalid LNA for

sc->l na[ 3]

}

/* fix broken RSSI
for (ant = O;

if (sc->rssi

ant < 3;
_2ghz[ant] < -10

= sc->lna[1];

channel

of fset entries */

ant ++) {

/* channel group 3 */

RT2860_EEPROM _LNA) ;
/* channel group 0 */
/* channel group 1 */

oxff) {

"rwn: rt2860_read_eepron():
"2);

group %\ n",

oxf f)
"

groub %\ n", 3);

|| sc->rssi_2ghz[ant]

R’V\N_DEBUG( RT2860_DBG_EEPROM

SC-

1f (sc->rssi

"rwn: rt2860_read_eepron():
“invalid RSSI%l offset:
sc->rssi

ant + 1,
>rssi _Zghz[ ant]

%l (2GHz)\n",
_2ghz[ant]);

_5ghz[ant] < -10 || sc->rssi_5ghz[ant]

RWN_DEBUE RT2860_DBG_EEPROM

SC-

}

“rwn: rt2860_read_eepro
"invalid RSSI %l offset:
SC->r ssi

ant + 1,
>rssi_5ghz[ ant]

return (RT2860_SUCCESS);

my: "
%! (2GHz)\n",
_5ghz[ant]);

{
rt 2860 read_eepron():

> 10)

> 10)



